
3-7. Bar AB rotates with a normally distributed angular velocity 2(2,0.2 ) rad/sAB Nω  . The 

lengths of the two bars are 1 mABL =  and 1.2 mBCL = , respectively. If 1 45θ =   and  2 60θ =  , 

determine the velocity of the slider block C. 
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Equating i  and j  components gives 
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1 1 2(sin cos tan ) 2(1)(sin 45 cos45 tan 60 ) 3.86 m/s
C ABv ABLωm m θ θ θ= + = + =aaa    

1 1 2(sin cos tan ) 0.2(1)(sin 45 cos45 tan 60 ) 0.39 m/s
C ABv ABLωs s θ θ θ= + = + =aaa    

Therefore, 2(3.86,0.39 ) m/sCv N .                              Ans. 

 

 

  

  

  
  

  

  

  

      

    

  


